daga ciladlas
N (VA) laia¥) TS Ak s -
Aada (YA) plaie¥) dul S Ciladia 2ae -
(il gise ed ¢ latial) Aul S Ciladia dae (e s ALY a5 (e S -
(Qbebu) JLEaY) ) -
Ao (Y ) olaadU 4lsl A ) -
D Agliay cilagledl) 038 8 . Qllhal) (¢ 5 3e
ALY e cal L Al danie 5 laciel) dud S Leaie 8 ¢ g 1ua ciladdaill 8
" el 8o ad) U8 lam 4 S8 5 iy Jl el 18
g JS (e L8 Baa) g dady AlaY) qigllaall g ¢ LDl dan jia ALid)
A e a2t ade g il gl 8 Gaba Gl g LS 3 3V Calall Gl i
daluad dalall s s 4ladl aadd) dal w6 canl (Al Al WU el 2ie
e ASL etila) o 5 ¢ el 8 LY) a5 gusal) labin (B ALY JLSE ) (S 5 A
e
rJla

L (B)  (A) oo al ALay) AJEd) ALY e dliyla) vie
raa g () adata (e LAY Aliud ¢ dlifa) aie

) e JSD LS DS Al GaY) e JIall el 3 jial ik
Mia (C) Aasaall LaY) 1 e

MWia dagaall ey

®OeE

Ansna LAY et dasa dla) Gl y Claill cudd 5 lad Als) Cual 1Y Lo dlls B -
L DY) ot Uad Al cunal g Clalilly Cudd 2 ¢ Aagaa s Gl 1Y Lol -
: Adhgala
i gl ey e SSH e JuAE A3 13 (daie (e JLEAY)) A g gall ALl A B
ad Loyl i ¢ Ay ) S

Auulal) A1 L1385 e
u or Vo (inital velocity) , V (velocity) , a (acceleration)
s or x (displacement) , t (time) , g = 9.8 m / sec® or 980 cm / sec’.

o, T , K) are aright set of unit vectors .
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@ 1- If a body moves on a straight line s (reiene das & Jy>5 13|

according to the equation: ARV
x = t? — 4t + 3, then the body changes goen v-eJ\ OB ¥+ OE- T =
the direction of its motion when t = ........ | .. = O s a8 > ol

@ 1 ® 2 r © v O
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Ifv=3t2-2t
andx =latt=0,

then x =...............
@ 6t-2

b  32-2t+1
© t*-t2+1

@ e-2-1




@ A particle moves on the x -axis, at time (t)
sec its displacement (x) meter from the
origin point (O) is given by the relation:

x =t*—32t+ 12, find:

(1) The speed of the particle at t =3

(i1) The value of t for which the particle is
instantaneously at rest.

(i11) The magnitude of the acceleration
att=1.5
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@ The momentum of a bullet of mass 100 gM | @A+ kS dolo) 3 > 45
and moving with velocity e § 3B B/ YE Aoy 8,505
240 m/sec=.......... .
@ 24x 103 gm.m/sec u/(- .v’:v-\ -xV¢ @
@ 24 kg.m/sec C.:/c V’S \§3 @
@ 2.4x 103gm.m/sec é/f'ﬁ‘\.xv’i @
@ 24 X 103kg.m/sec u/c . S,>-5 "\ exys @
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If a body moves with a uniform velocity o delitte A8 g e 3,25 13)
urLder Lhe action oithree forces F; B O T A TR L3
, F5, F3, where F; =51+ 7]+ 35k , CEYOr TV To=1D
F, = 51+ 49k , then the magnitude of BEA+ o=
F3=........... force unit. B398 by . = o e O
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A man of mass (M) kg. is inside a moving | %25 & 25 (9) &S Jory iy
lift If the pressure of the man on the floor of | J2 daa 358 <38 136 2 ouie
the lift is equal to (9.8m) newton, then the | (J3,A) $sls dnadl &o)1 s

lift was moving with ........ el e & 5 Ama ) B8
@ A uniform velocity Akt de peo @
@ A uniform acceleration downwards iy deditie oy @
@ A uniform acceleration upwards oY ddatie dlens @
®

@ A uniform deceleration upwards oY e i




@ Abody of mass 10 kg is placed on a smooth | S v"{ \eoals (e PS
inclined plane inclined to the horizontal at gs_;S}\ S e el Blo (6 g2ne
an angle of sine % A force of magnitude | <51 - % ld > &l
80 newton acts in the direction of the line | ®\=5! (& (P55 A+ lajlade 353
of the greatest slope upwards. Find the mag- | J] ¢l Joo 8T las
nitude and the direction of the acceleration | ol>3\s jlaie sl . srual Jei
generated and the magnitude of the normal | Jaa)l 5, ;ludey 31 Al

reaction of the plane on the body. el e sl (535001
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A body of mass 4 kg is placed on a
horizontal rough plane. If a force of
magnitude 2 kg.wt. acts on it making an

angle of tangent z to the horizontal such that
the body covered 24.5 m in 10 sec.

Find the coefficient of the kinetic friction.
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If the force of magnitude 16 kg.wt acts S"’S VT laylade 58 o T 13)
- [ IR F “
for , Secona body, then the SIds OB (Ao % XW) — S

magnitude of the impulse of the force on & g gy ezl e 3531 8,
the body with unit newton.sec Gl

equals .........
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Answer one of the following items :
(a) Two bodies of masses 420 , 560 gm.

are connected by a light string passing
over a smooth pulley. If the system
starts its motion from rest when the two
bodies are on the same horizontal plane
.after passing one second, the string
connecting them is cut .Calculate

the distance between the two masses
after passing another second from the
moment of cutting the string.

(b) A body of mass 400 gm, is placed on a

smooth horizontal table, then
connected by a light string passing over
a smooth pulley fixed at the edge of the
table and carries a body of mass 90 gm
in its end .Find the acceleration of the
system and the pressure on the pulley

Y 53 5300 G (56 i
o O Y Lol o -
i las b S0y, e
degemall Sl L elide 3,50 e
O Las oKl e 35,51
oty Bl s (B Jlawadl
— L By 456 540

Mg ol gl Jasdl
o o) Bl |

ol dad Aasd 40 430 9 e
Eose o oo alS o
by o el (Bl s
e 30 o s dase
Jemu 9 all Bl we dtis
A e SN b
e gordl) s sl o 9.

B0 e Lardllg

10

wwyjailledg o






Iftheforces:FT=a?—j,Fj=3f+bf, vl TR ARSI AL]
— L 1 — gt
F; = ai + 2j act on a body for 7 sec. and ¢ e+ V=0

the impulse of these forces is given by the B Al CICR R Sy

relation: | = 27 + 47, s $ s ol éo oS :u\.,%
thena+b=....... Tty T Vo T 8L
............ —o+Pob
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@ Two smooth balls each of mass 200 gm IS A8 lde 06ST dyes

move in a straight line on a smooth it 2 (B Ve L
horizontal plane and in the same direction | Jo¥! ¢ e T S
.the first with velocity 4 m/sec. and the Aoy AW /e £ Ao

second with velocity 6 m/sec. If the balls HE ‘JJS” ool i B d’/f-‘
collide, calculate the velocity of each of 5 ey e O JQ\“ ool
them fiirectly afte.r collision known that the o e 3,50 f’w\ s Legie
magnitude of the impulse of the second ball A e 2081 5,501 s e
on the first ball equals 5x 10* dyne. sec. 2 T e
ool Ve xo geles
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@ A variable force F (measured in NeWtON) | duuis) 12 8pize 358 )30 13

acts upozn a body where | o e (o35l
F = 35 — 4.}, then the work done by this skl a1 0 £ TGy - a9
force in the interval from s=1m to s=3m ‘ .
equals ....... joule Fa¥=B et B
qu- .......... 63\..“.3.% Y= oﬁ!
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@ If a body of mass500 gm. moves with Ay (20" kS e 325 18]

velocity ¥ = 157 + 207 such that 7 and ROl N R Y N
J are two perpendicular unit vectors and Ge gl e Oloalaze ko s g

the magnitude of the velocity is measured
in cm/sec., then the kinetic energy of this
body equals ...... erg . YO RARREE Sold el L2

@ 6250 @ 12500 \Yo. - @ Tvo. @
@ 156250 @ 312500 ¥ivo.. @ \oivo- @
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If the force F = (31 + 4j ) dyne acts upon
a particle so its displacement is

S = (tT+ (t2 + t)] )em , then the power
of the force F at the moment t =3 sec
equals ...... dyne.cm/sec.
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@ A body of mass 10 kg. slides 6m on a el Bls xS\ il v 5
rough plane inclined to the horizontal by BN Jolas ¢ i S 5ms o
an angle of measure 30 .If the coefficient | ;2 01 jy -, ¥ g S

of the kinetic friction between them equals ° . ik

Y B & gl 23Y)

0.2,find in joule the work done by: _ .W - :jﬁ & db
: : P oo dodaadl JAli J 523 ol
(1) The weight of the body. | 0588 (D)
(ii) The friction force. 'V:E:};fsjs i




@

A car of mass 2 ton moves on a
horizontal road with a uniform velocity
108 km/h. against a resistance equivalent
to 15 kg.wt per each ton of the mass.
Calculate the power of its engine

in hourse .
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@ Answer one of the following items :

(a) A metro wagon at rest is attached by
a rope forms with the bar of the metro
an angle of measure 60" If the tension
force equals 500 kg. wt. and the wagon
moves with acceleration
5 cm/sec? for 30 sec calculate the
work done by the tension force in joule.

(b) A simple pendulum is made up of a light
rod of length 80 cm carrying a body of mass
4 gm. suspended vertically and is oscilla-
tory an angle of measure 120°.Find:

(1) The increase of the potential energy at
the end of the pathway more than at the
middle of the pathway.

(i1) The velocity of the body at the middle

of the pathway.
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